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Answers of all questions are to be given in the Answer-Book given to you.

15 minute time has been allotted to read this Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and

will not write any answer on the Answer-Book during this period.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective-type of questions, you have to choose any one of the four alternatives given in the
question, i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to
you.

All the questions including objective-type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 67/S/ A-A on the Answer-Book.

The Question Paper is bilingual. In case of doubt, the English version should be considered as
authentic.
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Time : 3 Hours | [ Maximum Marks : 100
9 : 3 90 ] [ gurie : 100
Note :
(i)  This question paper consists of 45 questions in all.
(i) Al the questions are compulsory. Internal choices are given in some questions.
(iii) Marks are given against each question.
(iv) Section - A consists of
Q.No. 1 to 20 that are Multiple Choice Questions (MCQs) carrying one mark each. Select and
write the most appropriate option out of the four options given in each question. An internal
choice has been given in some of questions.
(v)  Section - B consists of
Objective type questions. Q.No. 21 to 23 carry 2 marks each and Q.No. 24 to 29 carrying 4 marks
each. Attempt these questions as per the instructions given for each question.
(vi) Section - C consists of
(@) Q.No. 30 to 35 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 36 to 41 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.

() Q.No. 42 to 45 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
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SECTION - A /@UE - <h

1.  The convention is based on the principle “Anticipate no profit, but provide for all possible 1
losses”.
(A) Materiality (B) Conservatism
(C) Business entity (D) None of these
" T STIHM A TR, [eft Henrferd @il °g wrae™ &' 3w fagia W e aiuret §
(A) HRdl (B) wfeatteat
(C) HIEE THIE (D) TTH 9§ IS Tl
OR/319raT
Going concern concept states that a business firm will continue to carry on its activities for
a/an :
(A) limited life (B) avery long life
(C) indefinite life (D) long life
=Te] HTHE TR % STUR A9 i fHhand s Wit
(A) HifHd 999 R (B) 8d @idl §HI TR
(C) 3THd A Tk (D) <& §FF T
2. Which of the following includes in external liabilities ? 1
(A) Capital (B) Interest on capital
(C) Reserves (D) Sundry Creditors
o <A1l o 3faria =1 # 9 == wffed S g ?
(a) T (B) o W
(C) w93 (D) fafay o eR
3.  Accounting does not record non-financial transactions because of : 1
(A) Entity concept (B) Accrual concept
(C) Money measurement concept (D) None of the above
ergish # TR-fofa el s o 7 A 1 HROE
(A) THE TSRO (B) SIS STEERON
(C) &1 AT SR (D) 3TH 9 =S &
OR/3AYdaT
Revenue is considered as being earned when :
(A) Commission Received (B) Sale of goods
(C) Interest received (D) Cash received from Debtors
STTTH 1 IATSH AT ST § 7
(A) HHIH Y & (B) TS % fasha &1
(C) =S T &l (D) TSR & Uehg U &
67/S/A-224-A 4 54 [ Contd...



4.  Which of the following is not included in internal liabilities ?

(A) Capital (B) Reserves

(C) Profit of business (D) Bills payable

3Tidfes Saaisti & sfaia =1 o § o wftfed =& €2

(A) TS (B) H

(C) =HoH™ I & (D) <A fau=
OR/37erET

Out of the following, which can be recorded in the books of accounts ?
(A) Purchase of Machinery for ¥ 1,00,000

(B) Delay in supply of raw Materials of I 50,000

(C) Conflict between two managers causes a loss of I 1,00,000.

(D) All of the above

e ® @ fordt oren qeasni # sifvreifaa foran s wehar €2
(A) ¥ 1,00,000 Tt AT @

(B) ¥50,000 % =l AT i 3MYfd | foeid

(C) < yeEeRl & = AN & HRU T 1,00,000 FT 7
(D) STl |t

5.  Following the straight line method of depreciation on particular asset year after year is because
of which convention ?

(A) Conservatism (B) Materiality (C) Consistency (D) None of these

fore aRrel & S forelt Tafa w o wia ol g o wee Y faf s Swd 8 2

(A) Efgerfedr (B) @Rl (C) EIrad (D) 99 9 IS &l
6.  Dual aspect concept expressed in terms of fundamental accounting equation :

(A) Assets + Capital = Liabilities (B) Assets —Capital = Liabilities

(C) Assets + Liabilities = Capital (D) All of the above

fguafisr STauREN YAy Tl THi & &9 § iR 2 ¢ :

(A)  Fafa + gt = Jarand (B)  Hufeal — qsft = Jarand

(C) Hufaat + aand =it (D) ST |eft

EE
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7.  Which of the following is a wasting asset ? 1

(A) Goodwill (B) Machinery (C) Mines (D) Furniture

frafafed & & el Hufd H-9 T2

(A) Tfd (B) TR (© T (D) =R
OR/ 3Teral

Which of the following is not an intangible asset ?

(A) Goodwill (B) Trademarks (C) Patents (D) Cash
frefafea & & ovqd Hufa H-H & § 2
(A) wfd (B) =R f=g (C) THpw (D) g
8.  Valuation of closing stock is considered at lower cost or market value because of : 1
(A) Convention of Disclosure (B) Convention of Conservatism
(C) Convention of Consistency (D) Convention of Materiality

AN AU ISR oo H§ ¥ 7 R A The 1 Jodich i Hl R §

(A) TR IRAE (B) wfearfear aftaret
(C) Eradn gfaret (D) 9RdT 9
9. On the basis of Traditional Classification, accounts are classified into : 1

(A) 2 categories (B) 3 categories (C) 4 categories (D) 5 categories

QO STTeh{0T S ST IR @Al Skl SITTehL0l foha S @
(A) 2 g & (B) 3 &fordi & (C) 4 Sforl & (D) 5 Sifori %
OR/ 37raT

Harish purchased furniture for ¥ 45,000. Furniture account is :

(A) Debited (B) Credited
(C) Both Debited and Credited (D) Neither Debited nor Credited
B9 7% 45,000 1 HAT=R h foRa1 1 A= @I
(A) M &G (B) I &
(C) =™ 3 STHI, THI &l (D) 7T W HE AR T E S R
67/S/A-224-A 6 54 [ Contd...



10. Which accounts will be affected in case of Rent paid of ¥ 5,000 ? 1
(A) Cash Account

(B) Rent Account

~

(C) Both Rent Account and Cash Account
(D) None of these

% 5,000 fRI™N A 3 W SHE 91 @/ @ gofad 2 2
(A) TS @rdl
(B) fortran @ra

(C) Towumn @rar 9 Uske @i, 31

(D) T8 | HE Tl

11. Non cash voucher refers to : 1
(A) Debit voucher (B) Credit voucher

(C) Transfer voucher (D) None of these

TR-Terg yHIUTs § Afg © -

(A) TH YHIUR (B)  STHT YHIUTH

(C) I YR (D) 3TH 9 =S &
OR/319raT

Credit vouchers are prepared for recording :

A) Cash receipts
B

~—"

Cash payments

(
(
(C) Both Cash Receipts and Cash Payments
(

D) None of these

foraer 31fieiET ¥ STHT JHTUTeh oFTY ST €, 98 © -
(A) kg wiftaat

(B) TFS YTH

(C) ke WIfral qe kg T, S

(D) T & w1 e
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12.

13.

14.

[=]
67/S/A-224-A] 8 =% [ Contd...

The process of recording transactions in the journal is called :

(A) Balancing (B) Posting (C) Journalising (D) None of these

Al ! s H 1feifad e i 9fshan sheard © :
(A) ¥ Fepe (B) &t (C) Usamfed &M (D) 379 9 &S &l
OR/ 377aT

General Journal is also known as :

(A) Purchase book (B)  Sales book

(C) Return outward book (D) Journal proper
G ISE 6 59 A F ot ST S ©

(A) oI R (B) fasma o

(C) I e S (D) e g

“Goods returned by customer”. Which two accounts are affected ?
A) Cash Account and Return inward account

(
(B
(
(

Customer account and Return inward account

~

C) Customer account and Return outward account

D) None of these
‘TTEh g Wil ATaEt ' | i | 1 @ gIferd g ?

(A) U @I TN AIH ST Gl

(B)  TIT&eh Wl AT SITAH! SATeleh @l
(C) VTS @Il qT SITIH STereh Qe

(D) =T 9§ &S 7

Narration of Journal entry is recorded in the column of :

(A) Date (B) Particulars (C©) Dr. Amount (D) Cr. Amount
AT wfafte w1 wrie o W # sfiafed fFn S e, a8 €
(A) fafa (B)  fererm (C) - uf:r (D) SO



15. The cash book records :
(A) All cash receipts
(B) All cash payments
(C) All cash receipts and cash payments
(D) None of these

Jehe w@ STfveifad dt § ¢

(A) Tt Aehe Tl

(B) Wl THZ Y

(C) @t v TIRGET T Aehg T
(D) T8 | HE T

16. Which two accounts are involved in “Contra entry” ?
A) Cash account and Capital Account
B) Cash account and Bank Account

) Bank Account and Capital Account

(
(
(C
(D) None of these
yfaufafie & @i ®F | & O i 8 © 2
(A) ke T AT IST W
(B) {hg Wral T Ak @l
(C) ok T ae IsTt W
(D) =T 9§ &S T
OR/3797aT

A separate cash book maintained to record small transactions is called :

(A) Simple Cash book (B) Bank Cash book
(C) Petty Cash book (D) None of these
BIE A & ATTRET ¥ T A dTell ek ks sel, el ¢ :
(A) TTHRY e =@ (B) o Uehe =R

(C) T kg =& (D) T & =g T

P
]
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17. The page number of the ledger book is posted in :

(A) Date Column (B) Voucher No. Column
(C) Ledger Folio (D) Amount Column
WA SET < 53 T <941 Il €

(A) fafa ww | (B) UHIUh H&A WH H
(C) &l oE IS WY H (D) U wHH

18. Central Processing Unit (CPU) does not include :

(A) Control unit (B) Memory unit
(C) Arithmetic Logic Unit (D) Output unit
AT TEHER 3T H Ao TRl © -

(A) T g (B) Tfd Tohte

(C) SfemTIivrdia dTfeheh TohTS (D) fwia zaé

19. The commonly used output devices include :

(A) Monitor (B) Plotter (C) Printer

T I S el Ffd Sue

(A) HiHX (B) I (C) H=h

What is the full form of TPS ?
(A) Transaction Processing System
(B) Transit Process System

(C) Transaction Processing Storage

(D) None of these
AT, H Y T T ?
(A) gioreRT TrafeT fawen
(B) gifSre g fereen
(C)  ZiStoRT e TNt
(D) =T 9§ &S e

67/S/A-224-A | 10
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20.

21.

22.

Which of the following is characteristics of computer ? 1

(A) Diligence (B) Storage

(C) Both (A) and (B) (D) None of the above

Fret & 1 0 FordTo e A $

(A) wRem (B) TR

(C) =, (A) T (B) (D) =T ¥ & T
OR/3Terar

Commonly used accounting software is :
(A) Tally (B) Window (C) Easy books (D) Credit Manager

M T B el oiiehd |deeRl §

(A) 2w (B) T (C) TSt g (D) hfee HIR

SECTION -B/W@Us - &
Complete the following statements. (any two) 2x1
(i) Unsold goods are valued at cost price or market price, whichever is

(i) Convention of consistency states that the same accounting methods should be adopted
every year for preparing statements.

(iii) Sundry Creditors included in creditors for

=1 | | foRel qt el =1 ol i
(i)  HEH A S AR Yoo 312aT TSR Jed, T | o ot F, W TeHifohd foRam S
2l
(i) T R e oot 1 =T 39 Wi T Srai e s
S = |
(iii) fafaey =R & 3G TR wffed 2 €1
Match the following. (any two) 2x1
(i)  Debtor (@) To whom money is owing
(i) Creditor (b) Cash or goods withdrawn for personal use
(iii) Drawings (c) Who owes money
fo=dl & o1 T shifsu
() <R (a) TS &0 g ST
(i) <RR (b) TS 3T B Ushe 31971 e A
(i) ST () =T
67/S/A-224-A 11 54 [ Contd...



23.

24.

67/S/A-224-A | 12

Fill in the banks. (Any one) 2x1

(i) The computerised accounting system is capable of offering and
reporting.

(ii) and are the basic requirements of the computerised accounting
system.

ot T i) (iE ue)

(i) qen RIfén yeM w1 § wPegiehd oI@ish Yool Had |
(i) FHELIR ORAHT UM =g q« o MELIHAY ¢ |
Give one word answer for the following statements. (any four) 4x1

(i)  Under which concept, the business and its owners are two separate entities.
(i) Give an example of tangible asset.
(iii) Excess of business expenses incurred over the business revenue.

(iv) The concept assumes that, business enterprise should not be closed down in the near
future.

(v) Inflow of money from sale of goods.

(vi) Convention which helps in minimising errors in calculation.

=1 H 9 foR=sl = el 89 Th-Th g | ST M|

(i) Tore Hehoam & siavia Sa@m™ a1 3HH T, <1 Yo STl ¢ |
(i) o HUfd o T {0 T |

(ili) HATEE % STNTH T HAE o Al I A |

(iv) I Hehead A § o oraEm frehe wfas # o 89 aren = 71
(v) O % fesha @ gg1 1 sTqaie |

(vi) g 9RO} oM H B aelt Afed o =HaH H H FErdn I €

ERE
=
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25. Write the two aspects (effects) of the following transactions. (any four)

()
(i)
(iii)
(iv)
(v

(vi)

~—

Goods purchased for cash

Purchased furniture for cash

Rent paid

Sold goods to Haresh on Credit

Withdrew cash for personal use

Interest received

= 5 9 foredil OX oFeAl & €1 9 (Yvma) fafam |

RETRIRCHEH]
Fehg =R BIaT
Rt ygrram fehan
T I YR A1 o=

o (al

it ST Bq ek fahTem

S g1 foman

26. Match the following. (any four)

Increase is credited and decrease is debited
Record of small expenses

Book of Original entry

Cash receipts and payments

Increase is debited and decrease is credited

Contains more than one debit or Credit or both

gig S A & T HHT AW B T

T = o1 A

7o gfafte =t o=@t

kg Tt T T

gfg T Bt T qe0 Kt ST AN R

TOH T § Afeh A9 AqeT ST AT ST T ¢ |

(a) Assets (i)
(b) Cash voucher (i)
(c) Liabilities (iii)
(d) Petty cash book (iv)
(e) Combined entry )
(f)  Journal (vi)
=1 ° 9 Tt w1 e whifs)
() wufEl (i)
(b) kg FHIH (i)
() TFad (i)
(d) o TFE & (iv)
() HIH wiafte v)
(f)  USHME= (vi)

67/S/A-224-A |
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27. Identify whether the following are personal accounts, Real accounts or nominal accounts.

(any four)

(i) Commission Received
(i) M/s M.K. Agencies
(i) Wages paid

(iv) Aditya Account

(v) Building A/c

(vi) Drawings Account

=1 ¥ 9 =faama @i, arsfass @rdl 991 =19 /13 o @Tdl sl 9gaH ifse | (Tt =)

(i)  HHTH Y|

(i) H9H TH.S. oS
(iif) TSI T T
(iv) effeca =1 @rar
(v) 9 @

(

vi) ST Erdl

28. Match the following. (any four)

(a) Capital (i)
(b) Interest on Capital (i)
(c)  Bills payable (iif)
(d) Bank loans (iv)
(€) Wasting assets (v)
(f)  Stock (vi)
= o 9 fondl =R =1 e sifew)

() TS (i)
(b) Uit W =S (i)
(¢ <= fom (i)
(d) o = (iv)
(e) &t wufaal )
(f) hy (vi)

67/S/A-224-A |

Raw-materials to be used
Owner’s Claim

Creditors for loans

Amount invested by owners
Oil wells

Liability

T Tohal ST aTel el |
TTHT <RI STl

BT & WER
Tl gr e et
I *F P

EREl
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=
]
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29.

30.

31.

67/S/A-224-A | 15

State the following sentences True or False. (any four)

@)

(i)
(i)
(iv)
v)
(vi)

Computer is a device that accepts and stores data.

Magnetic disk is an output unit.

Accounting documents cannot be prepared through computer.

The full form of OLTP is Online Transaction Processing.

Computer is an electronic device that can perform only limited operations.

The computerised accounting is one of the data based oriented applications.

= 1 9 fon=gl O gl ol T 27aT 3T Iqist |

@)

(i)
(i)
(iv)
(v)
(vi)

HTE Teh ITRL © 1 SAfehs WHRR qo Tufed e T

<ok g ket Tk fid 3K €1

I ! HEHd H A@ihd Joig el 919 5T Tohdl |

OLTP %1 qui &Y 3Tellg ZioiaRH T-feT €1

HTZT Tk SeTaI+eh ST T il hael HifHd gare femfed s Fehar 7
FTR TR, SR ST sifufa=ra sy o & T T

SECTION -C/@us -

What is meant by a “Bank Column cash Book” ? Draw the format of it.

ek i ks S W A SATYIE § 2 3R WY Wi |

OR/3Terar

Write the accounting technique of :

a)
b)

~

(
(

Cash paid into the bank

Dishonour of a cheque

[+l

(a)
(b)

AfEd i TIEih dohrieh [GIlay

S § Jhe JTaH

=k T SR

State the advantages of double entry system.

fg-3fha Juelt % oY Sy |

[ERE

=
]
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32.

33.

34.

35.

Explain the effects of complete ommission on the trial balance.
Terde TR Yof &Y o GHIE 1 UM hifIT |
OR/3AYdaT

Write any two limitations of a trial balance.

qIIE ki hTE o HHd fafEn |

What are the factors affecting the depreciation ?

BIE 1 THIId L el SR HiA-hiT 9§ ?

Write a short note on “Income statement”.

‘3 oo’ W U Hiva feuot fafaw |

Explain the treatment of outstanding expenses in the financial statements with a suitable
example.

Toh 3T ISRV o |y fowita faexon # 31w =94i ol SRR qHE |
OR/ 372rET

From the following information, prepare Balance sheet of M/s Nigam Traders as on
31.03.2023.

Capital - < 1,00,000
Building - < 75,000
Creditors - % 15,000
Debtors - < 12,000
Cash in hand - < 8,000
Cash at Bank - < 7,000
Net Profit - < 20,000
Investments - < 33,000
frefafea gammet 9 f9d W e &1 31.03.2023 1 o 959 IR0
TSit - %1,00,000
EER - < 75,000
[SREAR - ¥15,000
IR - 12,000
T UhS - T8,000
Shey Yhg - T7,000
IS oY - %20,000
IREN] - ¥33,000
67/S/A-224-A] 16 shy
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36.

37.

38.

39.

40.

41.

What are the steps followed for preparation of simple cash book.

IR AhS &l S g - H =T STIATT S & ?

What is depreciation ? Write the various objectives of providing depreciation.

BH AL ? BE A o fafue sexd fafam)
OR/319raT
What is diminishing balance method ? Explain its merits and demerits.

wifaa 9w fafa =1 82 39 701 v < guEmET |

A plant is purchased for ¥ 1,00,000 on 15t April 2021. It is estimated that the residual value
of the plant at the end of the working life of 10 years will be ¥ 20,000. Calculate the depreciation
to be provided per year on Straight Line Method. You are also to show the plant account for
2 years.

1 37 202131 % 1,00,000 1 HIF WIS | I STTAA g3 fof 10 i & il S o I 3HHT
JTafT T ¥ 20,000 BRT 1 ERat Y@ fafy § gfders ormg S arett g9 o6t uftn gfiewfea v @
Tl ¥ 39 G4 WIaT o T |

Discuss the errors not disclosed by the trial balance.

TS G Yehe A B dTeit JfeAl bl == Sifelg |

Distinguish between “Trading account’ and ‘Profit & Loss account’.

‘SR @il Td e Y-gifd @’ o st Aqse sifse )

What do you mean by financial statements ? State the objectives of preparing financial
statements.

fafaa foaroll & e9ert 1 s1fyygrg €2 focita faemor TR & & 3899 JdET|
OR/319raTt

From the following balances of M/s National Traders prepare a Profit and Loss Account for
the year ended 315t March 2023.

Credit balance of Trading A/c - < 1,25,000
Printing & Stationery - < 5,000

Freight outward - T 7,000

Salaries - < 21,000

Interest received - < 5,000

Discount allowed - T 7,000

General expenses - < 18,000

Salary outstanding as on 31.03.2023 - < 5,000

67/S/A-224-A | 17 B
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ol TvMa ¢ed & frafataad e 9 31 91" 2023 1§ 99 &g ard-glH @l a9Ry |

TR T T STHT 3 - ¥1,25,000
U TE R - ¥5,000
TSl e - %7,000
ELEl - ¥21,000
T 9T - %5,000
2 YoM fohan - %7,000
= 2 - %18,000
31 A 2023 1 318 ofad - %5,000

42. What is meant by Journal ? What are the purposes of preparing journal ? Draw a format of 5
it.

YT © R A9 © 2 U= o1 o S8 hid-hia § § 2 36 Yiey Eifau |
OR/ 31raT

Explain the modern classification of Accounts and their fundamental rules of debit & Credit.

@l k1 SR SAITRLOT T 37k 19 Tel ST o FeIyd a0 aHemsu |

43. What is trial balance ? Discuss the objectives of preparing a trial balance. 5

TAYS T & ? TAYS I o 3T ki ==l iU |

OR/3Terar

If the trial balance does not tally, it means there are some errors in books of accounts. State
the procedure of locating errors.

7fg qerue 1 faer 7 &1, df 39kt 319 § o oren-q&aent ® 3 Jfear €1 Jfedi &1 gar o 6t
fafy s

44. What do you mean by Position statement or Balance Sheet ? What are the objectives of 5
preparing balance sheet ? Draw a proforma of Balance sheet.

feerfar foaor ereran qorm o= & ewruert o 1fiur § 2 fearfa faaror M & Seva F-am 1 § 2 fearfa
foaur =1 grey Eifau |

o [E]

[=]
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45.

From the following Trial Balance and adjustments prepare Trading and Profit & loss A/c for 5

the year ended on 31.03.2023 and Balance sheet as on 31.03.2023.

Debit Balances 4 Credit Balances 4
Purchases 17,000 | Sales 17,500
Opening stock 1,250 | Discount 1,275
Cash 1,500 | Bills Payable 900
Building 10,600 | Creditors 4,000
Salaries 1,650 | Capital 13,000
Bills Receivable 800 | Commission 800
Debtors 1,900 | Dividend 525
Carriage and freight 500
Rent & Taxes 600
Wages 750
General Expenses 1,000
Insurance 450

38,000 38,000
Adjustments :

(i)  Value of stock as on 31.03.2023 was < 4,500

(i) Wages outstanding I 250

(i) Insurance prepaid I 50

(iv) Provide depreciation on Building @ 10%

67/S/A-224-A |
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frfafea doue qen gumEsHRT 9 31 | 2023 T TH 99 T SH9R 99T AY-8IT @rar qen

31 AT 2023 @1 feafq foero sAEy :
g Ay 4 SR 4
Xl 17,000 | fosa 17,500
TRIh @hel 1,250 | @ 1,275
e 1,500 | 2= oo 900
CCE| 10,600 | @er 4,000
ELE] 1,650 | gsh 13,000
T oo 800 | epfiyM 800
TR 1,900 | e 525
ST U g8 500
IERPIReC ks 600
LELA 750
= = 1,000
S 450
38,000 38,000
qudlaﬂlﬁ :
(i)  31.03.2023 ! ThHY hHT T T 4,500 1
(i) 3rEd "SI % 250
(iii) geied SHT T 50
(
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